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QUESTION 1

An administrator creates a shortcut that points to an invoice report. What happens if the invoice report is renamed? 

A. The shortcut contains the original name and can be used to view the latest output before the report was renamed. 

B. The shortcut contains the original name and no longer works because the link to the report is broken. 

C. IBM Cognos Connection automatically updates the report name in the shortcut, and the shortcut remains fully
functional. 

D. IBM Cognos Connection automatically deletes the shortcut. 

Correct Answer: B 

 

QUESTION 2

Which system metric for the Report Service would the administrator set as having a performance pattern of "Low values
are good"? 

A. Queue length high watermark 

B. Percentage of successful requests 

C. Number of successful requests 

D. Successful requests perminute 

Correct Answer: A 

 

QUESTION 3

When the user is accessing a report on a remote computer, what configuration must be made to avoid an IBM Cognos
ApplicationFirewall error? 

A. Anonymous Access must be set to false. 

B. The third-party VSS checking must be enabled. 

C. The IBM Cognos Application Firewall must be enabled on an internal dispatcher. 

D. The name of the remote computer must be added to the list of valid domain or hosts. 

Correct Answer: A 

 

QUESTION 4

Which service is responsible for generating an HTML page? 
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A. Job service 

B. Report service 

C. Delivery service 

D. Content Manager service 

Correct Answer: B 

 

QUESTION 5

Which statement is true about the definition of the Application tier? 

A. The Application tier hosts the dispatcher and content manager that reside in a servlet container. 

B. The Application tier hoststhe dispatcher, which includes the IBM Cognos Application Firewall and Access Manager. 

C. The Application tier hosts the BI server and the content store. 

D. The Application tier hosts the content manager, which contains data such as a report specification,IBM Cognos
namespace, and so on. 

Correct Answer: B 

Below is a partial diagram of the processing that occurs when a user launches saved output in IBM Cognos Connection
and views it in IBM Cognos Viewer. 

At the level of the dispatcher, which of the IBM Cognos BI services is used to process the request? 

A. Report service 

B. Presentation service 

C. Batch report service 

D. Delivery service 

 

QUESTION 6

What is a recommendation for tuning during high interaction request processing? 

A. Set thenumber of jobs lower during peak hours. 

B. Set the number of jobs higher during peak hours. 
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C. Increase the processing capacity on the dispatcher. 

D. Increase the peak period hours. 

Correct Answer: A 

 

QUESTION 7

A user wants to be able to view the contents of a container entry, such as a package or a folder, and view general
properties of the containeritself without having full access to the content. Which permission does the administrator
assign to the user? 

A. Read 

B. Write 

C. Traverse 

D. Set Policy 

Correct Answer: C 

 

 

QUESTION 8

There is a load balancing infrastructure set up in a IBM Cognos BI environment. In order to disable the IBM Cognos BI
internal load balancing mechanism, what value must be selected for the Load Balancing Mode setting? 

A. Custom balancing 

B. Cluster compatible 

C. Weighted roundrobin 

D. Server-side processing 

Correct Answer: C 

 

QUESTION 9

What must the administrator do to set up the sample audit reports that come with IBM Cognos BI? 

A. Create a separate data source connection to the content store. 

B. Set up an audit databaseand configure log messages to be sent to the database. 

C. Set up a log file and configure log messages to be sent to the file. 

D. Create a Framework Manager model using either a database or flat file as the data source, and then publish a
package. 
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Correct Answer: D 

 

QUESTION 10

Computer 1 is set up as a gateway. Computer 2 is set up as areport server. Computer 3 is set up as a report server.
Computer 4 is set up as a content manager. To avoid performance downgrades as a result of many users running
reports interactively, which of the following configurations will achieve improved performance for report processing? 

A. Disable the report service and batch report service on Computer 2. 

B. Disable the presentation service on Computer 2. 

C. Disable the report service on Computer 3. 

D. Disable the presentation service on Computer 4. 

Correct Answer: D 
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